Chapter 12 Problem II (+1)




Name _____________________

Show all work for full credit!

10. The pressure on 2.50 L of anesthetic gas changes from 105 kPa to 40.5 kPa.  What will be the new volume if the temperature remains constant?

11. A gas with a volume of 4.00 L at a pressure of 205 kPa is allowed to expand to a volume of 12.0 L.  What is the pressure in the container if the temperature remains constant?

12. If a sample of gas occupies 6.80 L at 325(C, what will be its volume at 25(C if the pressure does not change?

13. Exactly 5.00 L of air at –50.0(C is warmed to 100(C.  What is the new volume if the pressure remains constant?

14. A gas has a pressure of 6.58 kPa at 539 K.  What will be the pressure at 211 K if the volume does not change?

15. The pressure in an automobile tire is 198 kPa at 27(C.  At the end of a trip on a hot sunny day, the pressure has risen to 225 kPa. What is the temperature of the air in the tire?

16. A gas at 155 kPa and 25(C occupies a container with an initial volume of 1.00 L.  By changing the volume, the pressure of the gas increases to 605 kPa as the temperature is raised to 125(C.  What is the new volume?

17. A 5.00 L air sample at a temperature of -50(C has a pressure of 107 kPa.  What will be the new pressure if the temperature is released to 102(C and the volume expands to 7.00 L?

21. A given mass of air has a volume of 6.00 L at 101 kPa.  What volume will it occupy at 25.0 kPa if the temperature does not change?

53. A gas with a volume of 4.0 L at 90.0 kPa expands until the pressure drops to 20.0 kPa.  What is the new volume if the temperature remains constant?

